Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 14 - Glenrothes North Leslie & Markinch

6,255

4

1,252

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
John BEARE	Scottish National Party (SNP)	1,730
Frances Jean BENNIE	Scottish Liberal Democrats	318
George Thomas CARRATT	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	109
Bryce GOODALL	Scottish Greens - Think Global Act Local	224
Peter GULLINE	Scottish Conservative and Unionist	1,161
Afifa KHANAM	Scottish Labour Party	714
Lynn MOWATT	Scottish National Party (SNP)	1,059
Jan WINCOTT	Scottish Labour Party	940
	Total	6,255

Candidate John BEARE Elected with 1,730 votes, being in excess of the quota of 1,252

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of John BEARE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Frances Jean BENNIE	41	0.27630	11.32830
Transfer to George Thomas CARRATT	13	0.27630	3.59190
Transfer to Bryce GOODALL	118	0.27630	32.60340
Transfer to Peter GULLINE	18	0.27630	4.97340
Transfer to Afifa KHANAM	47	0.27630	12.98610
Transfer to Lynn MOWATT	1,355	0.27630	374.38650
Transfer to Jan WINCOTT	43	0.27630	11.88090
No further preference	95	0.27630	26.24850
Not transferred due to rounding			0.00100
	Total		478.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Lynn MOWATT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Frances Jean BENNIE	56	0.12654	7.08624
Transfer to George Thomas CARRATT	32	0.12654	4.04928
Transfer to Bryce GOODALL	359	0.12654	45.42786
Transfer to Peter GULLINE	13	0.12654	1.64502
Transfer to Afifa KHANAM	59	0.12654	7.46586
Transfer to Jan WINCOTT	133	0.12654	16.82982
Transfer to Frances Jean BENNIE	58	0.03496	2.02768
Transfer to George Thomas CARRATT	33	0.03496	1.15368
Transfer to Bryce GOODALL	519	0.03496	18.14424
Transfer to Peter GULLINE	22	0.03496	0.76912
Transfer to Afifa KHANAM	76	0.03496	2.65696
Transfer to Jan WINCOTT	123	0.03496	4.30008
No further preference	407	0.12654	51.50178
No further preference	524	0.03496	18.31904
Not transferred due to rounding			0.00984
	Total		181.38650

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of George Thomas CARRATT

117.79486

Ctago : =/totacion of Cooligo Informac Ortica (17)			
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Frances Jean BENNIE	12	1.00000	12.00000
Transfer to Bryce GOODALL	19	1.00000	19.00000
Transfer to Peter GULLINE	29	1.00000	29.00000
Transfer to Afifa KHANAM	10	1.00000	10.00000
Transfer to Jan WINCOTT	11	1.00000	11.00000
Transfer to Frances Jean BENNIE	2	0.27630	0.55260
Transfer to Bryce GOODALL	5	0.27630	1.38150
Transfer to Peter GULLINE	2	0.27630	0.55260
Transfer to Afifa KHANAM	1	0.27630	0.27630
Transfer to Jan WINCOTT	1	0.27630	0.27630
Transfer to Frances Jean BENNIE	1	0.12654	0.12654
Transfer to Bryce GOODALL	12	0.12654	1.51848
Transfer to Peter GULLINE	3	0.12654	0.37962
Transfer to Afifa KHANAM	1	0.12654	0.12654
Transfer to Jan WINCOTT	1	0.12654	0.12654
Transfer to Frances Jean BENNIE	3	0.03496	0.10488
Transfer to Bryce GOODALL	10	0.03496	0.34960
Transfer to Afifa KHANAM	1	0.03496	0.03496
Transfer to Jan WINCOTT	1	0.03496	0.03496
No further preference	28	1.00000	28.00000
No further preference	2	0.27630	0.55260
No further preference	14	0.12654	1.77156
No further preference	18	0.03496	0.62928
Not transferred due to rounding			0.00000
	Total		117.79486

Report Name: Transfers_V0001_Ward-14---Glenrothes-North-Leslie-&-Markinch_06052022_151827.pdf Created: 06-5-2022 15:18:27

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Bryce GOODALL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Frances Jean BENNIE	53	1.00000	53.00000
Transfer to Peter GULLINE	5	1.00000	5.00000
Transfer to Afifa KHANAM	47	1.00000	47.00000
Transfer to Jan WINCOTT	32	1.00000	32.00000
Transfer to Frances Jean BENNIE	13	0.27630	3.59190
Transfer to Afifa KHANAM	20	0.27630	5.52600
Transfer to Jan WINCOTT	13	0.27630	3.59190
Transfer to Frances Jean BENNIE	81	0.12654	10.24974
Transfer to Peter GULLINE	3	0.12654	0.37962
Transfer to Afifa KHANAM	34	0.12654	4.30236
Transfer to Jan WINCOTT	38	0.12654	4.80852
Transfer to Frances Jean BENNIE	113	0.03496	3.95048
Transfer to Peter GULLINE	6	0.03496	0.20976
Transfer to Afifa KHANAM	48	0.03496	1.67808
Transfer to Jan WINCOTT	36	0.03496	1.25856
No further preference	106	1.00000	106.00000
No further preference	77	0.27630	21.27510
No further preference	215	0.12654	27.20610
No further preference	326	0.03496	11.39696
Not transferred due to rounding			0.00000
	Total		342.42508

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Frances Jean BENNIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Peter GULLINE	90	1.00000	90.00000
Transfer to Afifa KHANAM	88	1.00000	88.00000
Transfer to Jan WINCOTT	74	1.00000	74.00000
Transfer to Peter GULLINE	4	0.27630	1.10520
Transfer to Afifa KHANAM	16	0.27630	4.42080
Transfer to Jan WINCOTT	5	0.27630	1.38150
Transfer to Peter GULLINE	12	0.12654	1.51848
Transfer to Afifa KHANAM	48	0.12654	6.07392
Transfer to Jan WINCOTT	30	0.12654	3.79620
Transfer to Peter GULLINE	8	0.03496	0.27968
Transfer to Afifa KHANAM	68	0.03496	2.37728
Transfer to Jan WINCOTT	29	0.03496	1.01384
No further preference	131	1.00000	131.00000
No further preference	31	0.27630	8.56530
No further preference	48	0.12654	6.07392
No further preference	69	0.03496	2.41224
Not transferred due to rounding			0.00000
	Total		422.01836

Transfers Report

This report contains the transfers results.

Stage 7 - Surplus of Peter GULLINE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Afifa KHANAM	290	0.03455	10.01950
Transfer to Jan WINCOTT	345	0.03455	11.91975
Transfer to Afifa KHANAM	4	0.00954	0.03816
Transfer to Jan WINCOTT	3	0.00954	0.02862
Transfer to Afifa KHANAM	7	0.00437	0.03059
Transfer to Jan WINCOTT	10	0.00437	0.04370
Transfer to Afifa KHANAM	9	0.00120	0.01080
Transfer to Jan WINCOTT	5	0.00120	0.00600
No further preference	650	0.03455	22.45750
No further preference	17	0.00954	0.16218
No further preference	14	0.00437	0.06118
No further preference	22	0.00120	0.02640
Not transferred due to rounding			0.00812
	Total		44.81250

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Afifa KHANAM

917.02421

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jan WINCOTT	696	1.00000	696.00000
Transfer to Jan WINCOTT	45	0.27630	12.43350
Transfer to Jan WINCOTT	108	0.12654	13.66632
Transfer to Jan WINCOTT	161	0.03496	5.62856
Transfer to Jan WINCOTT	210	0.03455	7.25550
Transfer to Jan WINCOTT	3	0.00954	0.02862
Transfer to Jan WINCOTT	6	0.00437	0.02622
Transfer to Jan WINCOTT	9	0.00120	0.01080
No further preference	163	1.00000	163.00000
No further preference	39	0.27630	10.77570
No further preference	34	0.12654	4.30236
No further preference	32	0.03496	1.11872
No further preference	80	0.03455	2.76400
No further preference	1	0.00954	0.00954
No further preference	1	0.00437	0.00437
Not transferred due to rounding			0.00000
	Total		917.02421

Report Name: Transfers_V0001_Ward-14---Glenrothes-North-Leslie-&-Markinch_06052022_151827.pdf Created: 06-5-2022 15:18:27